E+n

X 10”

E+3

x 1000

20

(kg/

)

(ka/ )

14E+1

14.0

9.2E+1

92.0

106.0

9.1E+2

910.0

910.0

1.1E+3

1,100.1

1,100.1

Olo|N|oc|OR|lWIN|F-

=
o

1.0E+0

1.0

8.3E+2

829.0

830.0

[ER
[N

[N
N

[y
w

[N
N

=
(8]

[N
[o}

[y
~

=
(o]

[ERN
©

N
o

N
[y

9.0E+0

9.0

9.0

N
N

1.8E+0

18

9.0E-1

0.9

2.7

N
w

1.0E-1

0.1

0.1

N
~

N
(8]

3.0E+0

13E+1

16.0

16.0

N
(o)

1.6E+3

1,600.0

14E+1

5.0E+1

64.0

1,664.0

N
-~

1.2E+0

3.8E+1

38.8

38.8

N
[e0)

1.0E-1

2.7E+1

27.1

8.9E+0

7.8E+2

785.3

8124

N
e}

w
o

w
g

w
N

w
w

w
~

w
a1

6.0E-1

2.0E-1

0.8

9.2E+1

92.0

92.8

w
(o)}

w
|

w
[e¢]

w
©

N
o

SN
U

47E+0

4.7

4.7

SN
N

IS
w

7.7E+1

77.0

77.0

S
SN

N
(8]

N
[e2]

SN
~

1.6E+3

5.3E+1

1,653.8

2.7E+1

4.0E+3

4,009.8

5,663.6

[y
o




	065

